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All questions have only one correct answer. 
Choose the right answer 

1. The roots of the equation (a + c – b)x2 
– 2cx + (b + c – a)= 0 are 

 (A) 1, 
a + c – b
b + c – a (B) 1, 

2c
a + c – b 

 (C) 1, 
b + c – a
a + c – b (D) 1, 

b + c – a
2c  

 

2. One of the roots of 
⎪
⎪
⎪

⎪
⎪
⎪3 – x –6 3

–6 3 – x 3

3 3 –6 – x

 

= 0 is 
 (A) 3 (B) –3 
 (C) 6 (D) 0 
 
3. A class consists of 80 students, 25 of 

them are girls. If 10 of the students 
are rich and 20 of the students are fair 
complexioned, then the probability of 
selecting a fair complexioned rich girl 
from the class (assuming three traits 
as independent) is 

 (A) 1/10 (B) 1/32 
 (C) 5/512 (D) 7/512 
 
4. A bullet fired at a target loses half of 

its velocity after penetrating 6 cm into 
it. How much further will it penetrate 
before its velocity is destroyed ? 

 (A) 3 cm (B) 2 cm  
 (C) 1 cm (D) 3/2 cm 
 
5. If a and b are such that a sin θ = b  

cos θ for 0 ≤ θ < 
π
4, then 

(a – b)
(a + b)

 + 

(a + b)
(a – b)

 is 

 (A) 
2

(cos 2θ)
 (B) 2 cos θ 

 (C) 
2 cos θ
(cos 2θ)

 (D) 
2 sin θ
(cos 2θ)

 

 
    
 

ÃÖ³Öß ¯ÖÏ¿®ÖÖë ´Öë Ûêú¾Ö»Ö ‹Ûú ˆ¢Ö¸ü ÃÖÆüß Æïü … ÃÖÆüß ˆ¢Ö¸ü ÛúÖ 
“Öã®ÖÖ¾Ö Ûú¸ëü : 

1. ÃÖ´ÖßÛú ü̧ÞÖ (a + c – b)x2 – 2cx + (b + c – a) = 0 
Ûêú ´Öæ»Ö Æîü 

 (A) 1,  
a + c – b
b + c – a (B) 1,  

2c
a + c – b 

 (C) 1,  
b + c – a
a + c – b (D) 1,  

b + c – a
2c  

 

2. 
⎪
⎪
⎪

⎪
⎪
⎪3 – x –6 3

–6 3 – x 3

3 3 –6 – x

 = 0 ü ÛúÖ  

 ‹Ûú ´Öæ»Ö ÛúÖî®Ö ÃÖÖ Æî ? 
 (A) 3 (B) –3 
 (C) 6 (D) 0 
 

3. ‹Ûú ÛúõÖÖ ´Öë 80 ”ûÖ¡Ö Æïü ×•Ö®Ö´Öë ÃÖê 25 »Ö›Ìü×ÛúµÖÖÑ 
Æïü … µÖ×¤ü 10 ”ûÖ¡Ö ¬Ö®Öß Æïü †Öî¸ü 20 ”ûÖ¡Ö ÝÖÖî¸ü ¸ÓüÝÖ-
ºþ¯Ö Ûêú ÆüÖë, ŸÖÖê ÛúõÖÖ ´Öë ÝÖÖî¸ü ¸ÓüÝÖ-ºþ¯Ö Ûúß ¬Ö®Öß 
»Ö›ÌüÛúß ÛúÖ “ÖµÖ®Ö Ûú¸ü®Öê Ûúß ×ÛúŸÖ®Öß ÃÖÓ³ÖÖ¾Ö®ÖÖ Æîü 
(´ÖÖ®ÖÖ ×Ûú ŸÖß®ÖÖë ×¾Ö¿ÖêÂÖŸÖÖ‹Ñ Ã¾ÖŸÖÓ¡Ö Æïü) ? 

 (A) 1/10 (B) 1/32 
 (C) 5/512 (D) 7/512 

 
4. ×ÛúÃÖß »ÖõµÖ Ûúß †Öê¸ü ¤üüÖÝÖß ÝÖ‡Ô ÝÖÖê»Öß ˆÃÖ »ÖõµÖ 

´Öë 6 cm ‘ÖãÃÖ®Öê Ûêú ²ÖÖ¤ü †¯Ö®ÖÖ †Ö¬ÖÖ ¾ÖêÝÖ ÜÖÖê 
¤êüŸÖß Æîü … ‡ÃÖÛúÖ ¾ÖêÝÖ ÜÖŸ´Ö ÆüÖê®Öê ŸÖÛú µÖÆü ×ÛúŸÖ®ÖÖ 
†ÖÝÖê †Öê¸ü ‘ÖãÃÖêÝÖß ? 

 (A) 3 cm (B) 2 cm  
 (C) 1 cm (D) 3/2 cm 
 

5. µÖ×¤ü a ¾Ö b ‡ÃÖ ŸÖ¸üÆü ÃÖê ÆüÖê ×Ûú a sin θ = b  

cos θ Ûêú ×»Ö‹ 0 ≤ θ < 
π
4, ŸÖÖê 

(a – b)
(a + b)

 + 

(a + b)
(a – b)

  ×ÛúŸÖ®ÖÖ Æîü ? 

 (A) 
2

(cos 2θ)
 (B) 2 cos θ 

 (C) 
2 cos θ
(cos 2θ)

 (D) 
2 sin θ
(cos 2θ)
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6. If a chord of a circle x2 + y2 = 4 with 
one extremity at (1, 3) subtends a 
right angle at the centre of this circle, 
then the coordinates of the other 
extremity of this chord can be  

 (A) (–1, 3) (B) (1, – 3) 
 (C) (– 3, –1) (D) (– 3, ±1) 
 

7. If û, v̂, ŵ are unit vectors satisfying 
2û + 2v̂ + 2ŵ = 0, then |û – v̂| equals 
to 

 (A) 7/4 (B) 5/2 
 (C) 7/2 (D) 5/4 
 

8. Let f (θ) = sin θ (sin θ + sin 3θ). Then 
f (θ) is 

 (A) ≤ 0 only when θ ≤ 0    
 (B) ≤ 0 for all real θ  
 (C) ≥ 0 for all real θ 
 (D) ≤ 0 only when θ ≥ 0 
 

9. If a, b, c are in AP with non-zero 
common difference and x, y, z are in 
GP, then the points (a, x), (b, y) and 
(c, z) are collinear if 

 (A) y2 = z (B) x = z2 
 (C) x2 = y (D) x = y = z 
 
10. If a and b are two non parallel vectors 

having equal magnitude, then the 
vector (a – b) × (a × b) is parallel to  

 (A) b (B) a – b 
 (C) a + b (D) a 
 
11. 9 x = 12 +  147, then x = 
 (A) 2 (B) 3 
 (C) 4 (D) 5 
 
12. A bag contains 5 brown and 4 white 

socks. A man pulls out two socks. 
The probability that they are of the 
same colour is  

 (A) 5/108 (B) 1/6 
 (C) 5/18 (D) 4/9 

6. µÖ×¤ü ‹Ûú ¾Öé¢Ö x2 + y2 = 4 Ûúß •Öß¾ÖÖ (1, 3) 
¯Ö¸ü ‹Ûú ×ÃÖ¸êü Ûêú ÃÖÖ£Ö ‡ÃÖ ¾Öé¢Ö Ûêú Ûêú®¦ü ¯Ö¸ü 
ÃÖ´ÖÛúÖêÞÖ ¯Ö¸ü †ÓŸÖ×¸üŸÖ Æîü, ŸÖÖê ‡ÃÖ •Öß¾ÖÖ Ûêú †®µÖ 
×ÃÖ¸êü ÛúÖ ×®Ö¤ìü¿ÖÖÓÛú ÆüÖê ÃÖÛúŸÖÖ Æîü 

 (A) (–1, 3) (B) (1, – 3) 
 (C) (– 3, –1) (D) (– 3, ±1) 
 
7. µÖ×¤ü û, v̂, ŵ ‡ÛúÖ‡Ô ¾ÖêŒ™ü¸ü Æïü •ÖÖê 2û + 2v̂ + 

2ŵ = 0 ÛúÖê ÃÖÓŸÖãÂ™ü Ûú¸üŸÖê ÆüÖë, ŸÖÖê |û – v̂| ×ÛúÃÖÛêú 
²Ö¸üÖ²Ö¸ü Æîü ? 

 (A) 7/4 (B) 5/2 
 (C) 7/2 (D) 5/4 
 

8. ´ÖÖ®ÖÖ f (θ) = sin θ (sin θ + sin 3θ) Æîü … ŸÖÖê 
f (θ) ×ÛúŸÖ®ÖÖ Æîü ? 

 (A) Ûêú¾Ö»Ö ≤ 0 •Ö²Ö θ ≤ 0    
 (B) ÃÖ³Öß µÖ£ÖÖ£ÖÔ θ Ûêú ×»Ö‹ ≤ 0  
 (C) ÃÖ³Öß µÖ£ÖÖ£ÖÔ θ Ûêú ×»Ö‹ ≥ 0 
 (D) Ûêú¾Ö»Ö ≤ 0 •Ö²Ö θ ≥ 0 
 

9. µÖ×¤ü a, b, c ¿Öæ®µÖêŸÖ¸ü ˆ³ÖµÖ †ÓŸÖ¸ Ûêú ÃÖÖ£Ö AP ´Öë 
ÆüÖê †Öî¸ü x, y, z GP ´Öë ÆüÖê, ŸÖÖê ×²Ö®¤ãü (a, x),     
(b, y) ¾Ö (c, z) ÃÖ´Ö¸îü×ÜÖÛú Æïü µÖ×¤ü 

 (A) y2 = z (B) x = z2 
 (C) x2 = y (D) x = y = z 
 
10. µÖ×¤ü a ¾Ö b ÃÖ´ÖÖ®Ö ¯Ö×¸ü´ÖÖÞÖ ¾ÖÖ»Öê ¤üÖê †ÃÖ´ÖÖÓŸÖ¸ü 

¾ÖêŒ™ü¸ü ÆüÖê, ŸÖÖê ¾ÖêŒ™ü¸ü (a – b) × (a × b) ×ÛúÃÖÛêú 
ÃÖ´ÖÖÓŸÖ¸ü Æïü ?  

 (A) b (B) a – b 
 (C) a + b (D) a 
 

11. 9 x = 12 +  147, ŸÖÖê x = 
 (A) 2 (B) 3 
 (C) 4 (D) 5 
 

12. ‹Ûú ²ÖîÝÖ ´Öë 5 ³Öæ¸êü 4 ÃÖ±êú¤ü ´ÖÖî•ÖÌê Æïü … ‹Ûú †Ö¤ü´Öß 
¤üÖê ´ÖÖê•ÖÌê ×®ÖÛúÖ»ÖŸÖÖ Æîü … ‡ÃÖ ²ÖÖŸÖ Ûúß ×ÛúŸÖ®Öß 
ÃÖÓ³ÖÖ¾Ö®ÖÖ Æîü ×Ûú ¾Öê ‹Ûú Æüß ¸ÓüÝÖ Ûêú ÆüÖëÝÖê ?    

 (A) 5/108 (B) 1/6 
 (C) 5/18 (D) 4/9 
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13. The length of the largest rod that can 
be placed in a room, 16 m long, 12 m 
broad and 32/3 m high is                                    

 (A) 23 m (B) 68 m 
 (C) 68/3 m (D) 67/3 m 
 

14. The acute angle between the tangents 
drawn from the point (1, 4) to the 
parabola y2 = 4x is 

 (A) π/6 (B) π/2 
 (C) π/3 (D) tan–1 2 
 

15. The mean and median of 100 
observations have been computed to 
be 60 and 70 respectively. Later it 
was discovered that three 
observations which have been 
recorded as 18, 28 and 98 are actually 
80, 26 and 38 respectively. If the 
mean and median are recalculated 
with actual observations, then  

 (A) median will change but mean 
will not change  

 (B) neither mean nor median will 
change  

 (C) both mean and median will 
change 

 (D) mean will change but median 
will not change 

 

16. A rectangular garden is 100 m × 80 m. 
There is a path along the garden and 
just outside it. Width of the path is           
10 m. The area of the path is 

 (A) 1900 sq m (B) 2400 sq m 
 (C) 3660 sq m (D) 4000 sq m 
 

17. One of the angles of a triangle is 
equal to the sum of other two angles. 
If the ratio of the other two angles is       
4 : 5, then the angles of Δ are 

 (A) 90°, 40°, 50° (B) 15°, 60°, 105° 
 (C) 30°, 60°, 90° (D) 30°, 40°, 110° 
 

18. Atul and Babita enter into a business 
partnership in which Atul contributes 
` 2,000 for nine months and Babita 
contributes ` 5,000 for seven months. 
A profit of ` 1,100 will be divided 
between Atul and Babita in the ratio of 

 (A) 6 : 11 (B) 2 : 5 
 (C) 7 : 9 (D) 18 : 35 

13. 16 m »ÖÓ²Öê, 12 m “ÖÖî›Ìêü ¾Ö 32/3 m ‰Ñú“Öê Ûú´Ö¸êü 
´Öë ¸üÜÖß •ÖÖ ÃÖÛú®Öê ¾ÖÖ»Öß ÃÖ²ÖÃÖê »ÖÓ²Öß ”û›Ìü Ûúß 
»ÖÓ²ÖÖ‡Ô ×ÛúŸÖ®Öß ÆüÖê ÃÖÛúŸÖß Æîü ?                                    

 (A) 23 m (B) 68 m 
 (C) 68/3 m (D) 67/3 m 
 

14. ×²Ö®¤ãü (1, 4) ÃÖê ¯Ö¸ü¾Ö»ÖµÖ y2 = 4x ŸÖÛú ÜÖà“Öß 
ÝÖ‡Ô Ã¯Ö¿ÖÔ ¸êüÜÖÖ†Öë Ûêú ²Öß“Ö ®µÖæ®Ö ÛúÖêÞÖ ×ÛúŸÖ®ÖÖ Æîü ? 

 (A) π/6 (B) π/2 
 (C) π/3 (D) tan–1 2 
 

15. 100 ¯ÖÏêõÖÞÖÖë Ûêú ´ÖÖ¬µÖ ¾Ö ´ÖÖ×¬µÖÛúÖ Ûúß ÝÖÞÖ®ÖÖ 
ÛÎú´Ö¿Ö: 60 ¾Ö 70 Ûúß ÝÖ‡Ô Æîü … ²ÖÖ¤ü ´Öë ¯ÖŸÖÖ “Ö»ÖÖ 
×Ûú •ÖÖê ŸÖß®Ö ¯ÖÏêõÖÞÖ 18, 28 ¾Ö 98 ×¸üÛúÖò›Ôü ×Ûú‹ 
ÝÖ‹ £Öê ¾Öê ¾ÖÖÃŸÖ¾Ö ´Öë ÛÎú´Ö¿Ö: 80, 26 ¾Ö 38 Æïü … 
µÖ×¤ü ¾ÖÖÃŸÖ×¾ÖÛú ¯ÖÏêõÖÞÖÖë Ûêú ÃÖÖ£Ö ´ÖÖ¬µÖ ¾Ö ´ÖÖ×¬µÖÛúÖ 
Ûúß ¯Öã®Ö: ÝÖÞÖ®ÖÖ Ûúß •ÖÖ‹, ŸÖÖê  

 (A) ´ÖÖ×¬µÖÛúÖ ²Ö¤ü»Ö •ÖÖ‹ÝÖß »Öê×Ûú®Ö ´ÖÖ¬µÖ ®ÖÆüà 
²Ö¤ü»ÖêÝÖÖ …  

 (B) ®Ö ´ÖÖ¬µÖ ®Ö Æüß ´ÖÖ×¬µÖÛúÖ ²Ö¤ü»ÖêÝÖß …   

 (C) ´ÖÖ¬µÖ ¾Ö ´ÖÖ×¬µÖÛúÖ ¤üÖê®ÖÖë ²Ö¤ü»ÖëÝÖê … 

 (D) ´ÖÖ¬µÖ ²Ö¤ü»ÖêÝÖÖ »Öê×Ûú®Ö ´ÖÖ×¬µÖÛúÖ ®ÖÆüà 
²Ö¤ü»ÖêÝÖß … 

 
16. ‹Ûú †ÖµÖŸÖÖÛúÖ¸ü ²ÖÖÝÖ 100 m × 80 m. ÛúÖ Æîü … 

²ÖÖÝÖ Ûêú ÃÖÖ£Ö šüßÛú ²ÖÖÆü¸ü Ûúß ŸÖ¸ü±ú ‹Ûú ´ÖÖÝÖÔ Æîü … 
‡ÃÖ ´ÖÖÝÖÔ Ûúß “ÖÖî›ÌüÖ‡Ô 10 m Æîü … ‡ÃÖ ´ÖÖÝÖÔ ÛúÖ 
õÖê¡Ö±ú»Ö ×ÛúŸÖ®ÖÖ Æîü ? 

 (A) 1900 sq m (B) 2400 sq m 
 (C) 3660 sq m (D) 4000 sq m 
 

17. ×¡Ö³Öã•Ö ÛúÖ ‹Ûú ÛúÖêÞÖ †®µÖ ¤üÖê ÛúÖêÞÖÖë Ûêú µÖÖêÝÖ Ûêú 
²Ö¸üÖ²Ö¸ü Æîü … µÖ×¤ü †®µÖ ¤üÖê ÛúÖêÞÖÖë ÛúÖ †®Öã¯ÖÖŸÖ  
4 : 5 ÆüÖê, ŸÖÖê Δ Ûêú ÛúÖêÞÖ Æïü  

 (A) 90°, 40°, 50° (B) 15°, 60°, 105° 
 (C) 30°, 60°, 90° (D) 30°, 40°, 110° 
 

18. †ŸÖã»Ö ¾Ö ²Ö²ÖßŸÖÖ ‹Ûú ¾µÖ¾ÖÃÖÖµÖ ´Öë ÃÖÖ—Öê¤üÖ¸üß Ûú¸üŸÖê 
Æïü ×•ÖÃÖ´Öë †ŸÖã»Ö ` 2,000 ®ÖÖî ´ÖÖÆü Ûêú ×»Ö‹ ¾Ö 
²Ö²ÖßŸÖÖ ` 5,000 ÃÖÖŸÖ ´ÖÖÆü Ûêú ×»Ö‹ ¤êüŸÖß Æîü … 
†ŸÖã»Ö ¾Ö ²Ö²ÖßŸÖÖ Ûêú ²Öß“Ö ` 1,100 Ûêú »ÖÖ³Ö ÛúÖê 
×ÛúÃÖ †®Öã¯ÖÖŸÖ ´Öë ²ÖÖÑ™üÖ •ÖÖµÖêÝÖÖ ? 

 (A) 6 : 11 (B) 2 : 5 
 (C) 7 : 9 (D) 18 : 35 



P-4 5  

19. The ratio of the numbers of boys and 
girls of a school having 504 total 
students is 13 : 11. What will be the 
new ratio of boys and girls if 12 more 
girls are admitted in the school ? 

 (A) 91 : 81 (B) 81 : 91 
 (C) 9 : 10 (D) 10 : 9 
 

20. 39 persons can repair a road in 12 days, 
working 5 hours a day. In how many 
days will 30 persons, working 6 hours a 
day, complete the work ? 

 (A) 10 (B) 13 
 (C) 14 (D) 15 
 

21. Detergent worth ` 126 per kg and              
` 135 per kg are mixed with a third 
variety in the ratio 1 : 1 : 2. If the 
mixture is worth ` 153 per kg, the 
price of the third variety per kg will be  

 (A) ` 169.50 (B) ` 170 
 (C) ` 175.50 (D) ` 180 
 

22. If x + y = 7 and 3x – 2y = 11, then  
 (A) x = 5, y = 2 (B) x = 2, y = 5 
 (C) x = 5, y = 5 (D) x = 0, y = 3 
 

23. 0.9 is  
 (A) 0.95 
 (B) 0.3 
 (C) 0.03 
 (D) None of the above 
 

24. The smallest number by which 675 be 
multiplied so that the product is a 
perfect cube  

 (A) 3 (B) 5 
 (C) 40 (D) 125 
 

25. Which of the following is the largest 
fraction ? 

 (A) 6/7 (B) 4/5 
 (C) 5/6 (D) 7/8 
 

26.  [(0.5)2]2 is 
 (A) 0.0625 (B) 0.125 
 (C) 0.0125 (D) 0.625 
 

27. A group of 2n students consisting of n 
boys and n girls are to be arranged in 
a row such that the adjacent members 
are of opposite gender. The number 
of ways in which this can be done is 

 (A) 2 (n!) (B) (n!)2 
 (C) 2 (n!)2 (D) n!  

19. ‹Ûú ÃÛæú»Ö ´Öë Ûãú»Ö 504 ”ûÖ¡Ö Æïü ×•Ö®Ö´Öë »Ö›ÌüÛúÖë ¾Ö 
»Ö›Ìü×ÛúµÖÖë ÛúÖ †®Öã¯ÖÖŸÖ 13 : 11  Æîü … µÖ×¤ü ÃÛæú»Ö 
´Öë 12 †Öî¸ü »Ö›Ìü×ÛúµÖÖÑ ³ÖŸÖá ÆüÖê •ÖÖ‹Ñ ŸÖÖê »Ö›ÌüÛêú ¾Ö 
»Ö›Ìü×ÛúµÖÖë ÛúÖ ®ÖµÖÖ †®Öã¯ÖÖŸÖ ŒµÖÖ ÆüÖêÝÖÖ ? 

 (A) 91 : 81 (B) 81 : 91 
 (C) 9 : 10 (D) 10 : 9 
 

20. 39 »ÖÖêÝÖ ¯ÖÏ×ŸÖ×¤ü®Ö 5 ‘ÖÓ™êü ÛúÖ´Ö Ûú¸üŸÖê Æãü‹ ‹Ûú 
ÃÖ›ÌüÛú ÛúÖê 12 ×¤ü®Ö ´Öë ´Ö¸ü´´ÖŸÖ Ûú¸ü ÃÖÛúŸÖê Æïü … 
ˆÃÖß ÛúÖ´Ö ÛúÖê 30 ¾µÖ×ŒŸÖ ¯ÖÏ×ŸÖ×¤ü®Ö 6 ‘ÖÓ™êü ÛúÖ´Ö 
Ûú¸üŸÖê Æãü‹ ×ÛúŸÖ®Öê ×¤ü®Ö ´Öë ¯Öæ¸üÖ Ûú¸ëüÝÖê ? 

 (A) 10 (B) 13 
 (C) 14 (D) 15 
 

21. ` 126 ¯ÖÏ×ŸÖ ×ÛúÝÖÏÖ ¾Ö ` 135 ¯ÖÏ×ŸÖ ×ÛúÝÖÏÖ Ûêú 
×›ü™ü¸ü•Öë™ü ÛúÖê ‹Ûú ŸÖßÃÖ¸üß ×ÛúÃ´Ö ´Öë 1 : 1 : 2 Ûêú 
†®Öã¯ÖÖŸÖ ´Öë ×´Ö»ÖÖµÖÖ •ÖÖŸÖÖ Æîü … µÖ×¤ü ¾ÖÆü ×´ÖÁÖÞÖ   
` 153 ¯ÖÏ×ŸÖ ×ÛúÝÖÏÖ ÆüÖê ŸÖÖê, ŸÖßÃÖ¸üß ×ÛúÃ´Ö Ûúß 
Ûúß´ÖŸÖ ¯ÖÏ×ŸÖ ×ÛúÝÖÏÖ ×ÛúŸÖ®Öß ÆüÖêÝÖß ?  

 (A) ` 169.50 (B) ` 170 
 (C) ` 175.50 (D) ` 180 
 

22. µÖ×¤ü x + y = 7 †Öî̧ ü 3x – 2y = 11, ŸÖÖê  
 (A) x = 5, y = 2 (B) x = 2, y = 5 
 (C) x = 5, y = 5 (D) x = 0, y = 3 
 

23. 0.9 = ×ÛúŸÖ®ÖÖ Æîü ? 
 (A) 0.95 
 (B) 0.3 
 (C) 0.03 
 (D) ˆ¯Ö¸üÖêŒŸÖ ´Öë ÃÖê ÛúÖê‡Ô ®ÖÆüà … 
 

24. ¾ÖÆü ÃÖ²ÖÃÖê ”ûÖê™üß ÃÖÓÜµÖÖ ÛúÖî®Ö ÃÖß Æîü ×•ÖÃÖÃÖê 675 
ÛúÖê ÝÖãÞÖÖ ×ÛúµÖÖ •ÖÖ‹ ŸÖÖê ÝÖãÞÖ®Ö±ú»Ö ¯ÖæÞÖÔ ‘Ö®Ö ÆüÖê ? 

 (A) 3 (B) 5 
 (C) 40 (D) 125 
 

25. ×®Ö´®ÖÖÓ×ÛúŸÖ ´Öë ÃÖê ÃÖ²ÖÃÖê ²Ö›Ìüß ×³Ö®®Ö ÃÖÓÜµÖÖ ÛúÖî®Ö ÃÖß Æîü ? 
 (A) 6/7 (B) 4/5 
 (C) 5/6 (D) 7/8 
 
26.  [(0.5)2]2 ×ÛúŸÖ®ÖÖ Æîü ? 
 (A) 0.0625 (B) 0.125 
 (C) 0.0125 (D) 0.625 
 

27. 2n ”ûÖ¡ÖÖë Ûêú ÃÖ´ÖæÆü ÛúÖê, ×•ÖÃÖ´Öë n »Ö›ÌüÛêú ¾Ö n 
»Ö›Ìü×ÛúµÖÖÑ Æîü, ‡ÃÖ ŸÖ¸üÆü ¯ÖÓ×ŒŸÖ ´Öë ÜÖ›ÌüÖ ×ÛúµÖÖ •ÖÖ®ÖÖ 
Æîü ×Ûú ×®ÖÛú™ü¾ÖŸÖá ÃÖ¤üÃµÖ ×¾Ö¯Ö¸üßŸÖ Ø»ÖÝÖ ÛúÖ ÆüÖê … 
µÖÆü ×ÛúŸÖ®Öê ŸÖ¸üßÛúÖë ÃÖê ×ÛúµÖÖ •ÖÖ ÃÖÛúŸÖÖ Æîü ? 

 (A) 2 (n!) (B) (n!)2 
 (C) 2 (n!)2 (D) n!  
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28. The sum of the numbers between 200 
and 400 that are divisible by 7 is 

 (A) 8729 (B) 7511 
 (C) 6328 (D) 5712 
 

29. The number of solutions of the 
equation x2 – 4| x | – 2 = 0 is 

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 

30. Let A be a set containing ten 
elements. Then, the number of 
subsets of A containing atleast four 
elements are 

 (A) 845 (B) 848 
 (C) 850 (D) 854 
 

31. In a triangle ABC, measures of angles 
A, B and C are 30°, 105° and 45° 
respectively. If O is the orthocenter of 
Δ ABC, the OA/OC is equal to 

 (A) 
6

2  (B) 
3

2  

 (C) 
2

2  (D) 6 
 

32. Equation of a common tangent (if it 
exists) to x2 + y2 = 2 and x3 y3 = 1, is 

 (A) x + y = 2 (B) x + 2y = 2 
 (C) x + y = 2 (D) x + 2y = 2 
 

33. The sum of linear equations  
 (λ + 3)x + (λ + 2)y + z = 0 
 3x + (λ + 3)y + z = 0 
 2x + 3y + z = 0 
 has non-trivial solutions 
 (A) If λ = 1 
 (B) If λ = –1 
 (C) For no real value of λ 
 (D) If λ = 0 
 

34. If the ratio of the areas of two squares 
is 25 : 36, then the ratio of their 
perimeters is 

 (A) 25 : 36 (B) 5 : 6 
 (C) 6 : 5 (D) 36 : 25 
 

35. A fair coin is tossed n times. If the 
probability that head occurs 5 times is 
equal to the probability that head 
occurs 8 times, then the value of n is 

 (A) 13 (B) 14 
 (C) 12 (D) 11 

28. 200 †Öî̧ ü 400 Ûêú ²Öß“Ö Ûúß ‹êÃÖß ÃÖÓÜµÖÖ†Öë ÛúÖ 
µÖÖêÝÖ ×ÛúŸÖ®ÖÖ Æîü •ÖÖê 7 ÃÖê ×¾Ö³ÖÖ×•ÖŸÖ ÆüÖê ÃÖÛúŸÖß Æîü ? 

 (A) 8729 (B) 7511 
 (C) 6328 (D) 5712 
 

29. ÃÖ´ÖßÛú¸üÞÖ x2 – 4| x | – 2 = 0 Ûêú ×ÛúŸÖ®Öê Æü»Ö 
ÆüÖê ÃÖÛúŸÖê Æïü ? 

 (A) 1 (B) 2 
 (C) 3 (D) 4 
 

30. ´ÖÖ®ÖÖ ×Ûú A ¤üÃÖ †¾ÖµÖ¾ÖÖë ¾ÖÖ»ÖÖ ‹Ûú ÃÖî™ü Æîü … 
ŸÖÖê, ®µÖæ®ÖŸÖ´Ö “ÖÖ¸ü †¾ÖµÖ¾ÖÖë ¾ÖÖ»Öê A Ûêú ˆ¯Ö-ÃÖî™ü 
Ûúß ÃÖÓÜµÖÖ ×ÛúŸÖ®Öß Æïü ? 

 (A) 845 (B) 848 
 (C) 850 (D) 854 
 

31. ×¡Ö³Öã•Ö ABC ´Öë, A, B ¾Ö C ÛúÖêÞÖÖë Ûêú ´ÖÖ¯Ö 
ÛÎú´Ö¿Ö: 30°, 105° ¾Ö 45° Æïü … µÖ×¤ü O, Δ 
ABC, ÛúÖ »ÖÓ²ÖÛêú®¦ü ÆüÖê, ŸÖÖê OA/OC ×ÛúÃÖÛêú 
²Ö¸üÖ²Ö¸ü Æîü ? 

 (A) 
6

2  (B) 
3

2  

 (C) 
2

2  (D) 6 
32. x2 + y2 = 2 †Öî̧ ü x3 y3 = 1, Ûúß ˆ³ÖµÖ×®ÖÂšü 

Ã¯Ö¿ÖÔ ȩ̂üÜÖÖ (µÖ×¤ü µÖÆü ÆüÖê ŸÖÖê) ÛúÖ ÃÖ´ÖßÛú ü̧ÞÖ ŒµÖÖ Æîü ? 
 (A) x + y = 2 (B) x + 2y = 2 
 (C) x + y = 2 (D) x + 2y = 2 
 

33. ¸îü×ÜÖÛú ÃÖ´ÖßÛú¸üÞÖÖë   
 (λ + 3)x + (λ + 2)y + z = 0 
 3x + (λ + 3)y + z = 0 
 2x + 3y + z = 0 
 Ûêú µÖÖêÝÖ Ûêú †ŸÖã“”û Æü»Ö Æïü 
 (A) µÖ×¤ü λ = 1 ÆüÖê 
 (B) µÖ×¤ü λ = –1 ÆüÖê 
 (C) λ Ûêú ×ÛúÃÖß ³Öß †¾ÖÖÃŸÖ×¾ÖÛú ´ÖÖ®Ö Ûê ú×»Ö‹  
 (D) µÖ×¤ü λ = 0 ÆüÖê 
 

34. µÖ×¤ü ¤üÖê ¾ÖÝÖÖì Ûêú õÖê¡Ö±ú»Ö ÛúÖ †®Öã¯ÖÖŸÖ ÛÎú´Ö¿Ö:  
25 : 36 ÆüÖê, ŸÖÖê ˆ®ÖÛúß ¯Ö×¸ü×´Ö×ŸÖµÖÖë ÛúÖ †®Öã¯ÖÖŸÖ 
×ÛúŸÖ®ÖÖ ÆüÖêÝÖÖ ? 

 (A) 25 : 36 (B) 5 : 6 
 (C) 6 : 5 (D) 36 : 25 
 

35. ‹Ûú ×®ÖÂ¯ÖõÖ ×ÃÖŒÛêú ÛúÖê n ²ÖÖ¸ü ˆ”ûÖ»ÖÖ •ÖÖŸÖÖ Æîü … 
µÖ×¤ü µÖÆü ÃÖÓ³ÖÖ¾Ö®ÖÖ ×Ûú ×“Ö¢Ö 5 ²ÖÖ¸ü †Ö‹ÝÖÖ ˆÃÖÛêú 
8 ²ÖÖ¸ü ×“Ö¢Ö †Ö®Öê Ûúß ÃÖÓ³ÖÖ¾Ö®ÖÖ Ûêú ²Ö¸üÖ²Ö¸ü ÆüÖê … 
ŸÖÖê n ÛúÖ ´ÖÖ®Ö ×ÛúŸÖ®ÖÖ ÆüÖêÝÖÖ ? 

 (A) 13 (B) 14 
 (C) 12 (D) 11 
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36. If y = e2x, then  
d2y
dx2 ⋅ 

d2x
dy2  is equal to 

 (A) e–2x (B) –2e–2x 
 (C) 2e–2x (D) 1 
 

37. In how many ways can a committee 
consisting of one or more members be 
formed out of 12 members of the 
municipal corporation ?  

 (A) 4005 (B) 5095 
 (C) 4095 (D) 4090 
 

38. Let three numbers are in G.P. whose 
sum is 70. If the extreme numbers be 
multiplied by 4 and the mean by 5, 
they will be in AP. Then, the sum of 
the numbers is divisible by 

 (A) 7 
 (B) 6 
 (C) 3 
 (D) None of these 
 

39. In usual notations, the formula for 
mode is 

 (A) L + [(f – f1)/(2f – f1 – f2) ] i 
 (B) L + [(f/ f1)] i 
 (C) [(f – f1)/(2f – f1 – f2)] i 
 (D) L – [(f – f1)/(2f – f1 – f2) ] i 
 

40. The formula for coefficient of 
variation is  

 (A) σ / –x (B) 
Mean deviation

X  

 (C)  × 100 (D)  × 100 
 

41. If the observations are 3 and –3, their 
geometric mean is 

 (A) 3 
 (B) –3 
 (C) 0 
 (D) None of the above  
 
42. If a constant value 5 is subtracted 

from each observation of a set, the 
variance is 

 (A) Reduced by 5 
 (B) Reduced by 25 
 (C) Unaltered  
 (D) Increased by 25  

36. µÖ×¤ü y = e2x ÆüÖê, ŸÖÖê 
d2y
dx2 ⋅

d2x
dy2 ×ÛúÃÖÛêú ²Ö ü̧Ö²Ö ü̧ Æîü ? 

 (A) e–2x (B) –2e–2x 
 (C) 2e–2x (D) 1 
 

37. ®ÖÝÖ¸ü ×®ÖÝÖ´Ö Ûêú 12 ÃÖ¤üÃµÖÖë ´Öë ÃÖê ‹Ûú µÖÖ †×¬ÖÛú 
ÃÖ¤üÃµÖÖë ¾ÖÖ»Öß ÃÖ×´Ö×ŸÖµÖÖÑ ×ÛúŸÖ®Öß ŸÖ¸üÆü ÃÖê ÝÖ×šüŸÖ 
Ûúß •ÖÖ ÃÖÛúŸÖß Æïüü ?  

 (A) 4005 (B) 5095 
 (C) 4095 (D) 4090 
 
38. ´ÖÖ®ÖÖ G.P. ´Öë ŸÖß®Ö ÃÖÓÜµÖÖ‹Ñ Æïü, ×•Ö®ÖÛúÖ µÖÖêÝÖ 70 Æîü … 

µÖ×¤ü “Ö ǘ̧ Ö ÃÖÓÜµÖÖ ÛúÖê 4 ÃÖê ÝÖãÞÖÖ ×ÛúµÖÖ •ÖÖ‹ †Öî̧ ü 
´ÖÖ¬µÖ ÛúÖê 5 ÃÖê ÝÖãÞÖÖ ×ÛúµÖÖ •ÖÖ‹, ŸÖÖê ¾Öê AP ´Öë           
ÆüÖëÝÖê … ŸÖÖê ÃÖÓÜµÖÖ†Öë ÛúÖ µÖÖêÝÖ ×®Ö´®Ö ÃÖê ³ÖÖ•µÖ ÆüÖêÝÖÖ 

 (A) 7 
 (B) 6 
 (C) 3 
 (D) ‡®Ö´Öë ÃÖê ÛúÖê‡Ô ®ÖÆüà 
 

39. ÃÖÖ´ÖÖ®µÖ †ÓÛú®Ö ¯Ö ü̈×ŸÖ ´Öë, ´ÖÖê›ü Ûêú ×»Ö‹ ÃÖæ¡Ö ŒµÖÖ Æîü ?  
 (A) L + [(f – f1)/(2f – f1 – f2) ] i 
 (B) L + [(f/ f1)] i 
 (C) [(f – f1)/(2f – f1 – f2)] i 
 (D) L – [(f – f1)/(2f – f1 – f2) ] i 
 
40. ×¾Ö“Ö¸üÞÖ ÝÖãÞÖÖÓÛú Ûêú ×»Ö‹ ÃÖæ¡Ö ŒµÖÖ Æîü ?  

 (A) σ / –x (B) 
´ÖÖ¬µÖ ×¾Ö“Ö»Ö®Ö

X  

 (C)  × 100 (D)   × 100 
 
41. µÖ×¤ü ¯ÖÏêõÖÞÖ 3 †Öî̧ ü –3 ÆüÖê, ŸÖÖê ˆ®ÖÛúÖ •µÖÖ×´ÖŸÖßµÖ 

´ÖÖ¬µÖ ŒµÖÖ Æîü ? 
 (A) 3 
 (B) –3 
 (C) 0 
 (D) ‡®Ö´Öë ÃÖê ÛúÖê‡Ô ®ÖÆüà  
 

42. µÖ×¤ ×ÛúÃÖß ÃÖî™ü Ûêú ¯ÖÏŸµÖêÛú ¯ÖÏêõÖÞÖ ÃÖê ‹Ûú ×Ã£Ö¸ü 
´ÖÖ®Ö 5 ÛúÖê ‘Ö™üÖµÖÖ •ÖÖ‹, ŸÖÖê ¯ÖÏÃÖ¸üÞÖ 

 (A) 5 Ûú´Ö ÆüÖê •ÖÖŸÖÖ Æîü … 
 (B) 25 Ûú´Ö ÆüÖê •ÖÖŸÖÖ Æîü … 
 (C) ¾ÖÆüß ¸üÆüŸÖÖ Æîü … 
 (D) 25 ²ÖœÌü •ÖÖŸÖÖ Æîü … 
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43. When P (A ∪ B) = 0.85, P (A) = 0.3, 
P (B) = 0.6, the events A and B are 
said to be 

 (A) Independent 
 (B) Equally likely 
 (C) Not mutually exclusive 
 (D) Mutually exclusive 
 

44. For mutual independence of 3 events 
A1, A2 and A3, the total number of 
conditions to be satisfied is  

 (A) 3 (B) 4 
 (C) 5 (D) 1 
 

45. If A and B are square matrices such 
that AB = A and BA = B, then B2 is 
equal to     

 (A) B (B) A 
 (C) I (D) 0 
 

46. If →a , 
→
b and →c  are three non-coplanar 

vectors, and →p, →q and →r  are vectors 
defined by the relations 

 →p = (
→
b × →c) / [→a , 

→
b, →c], →q = (→c  × →a) / 

[→a , 
→
b, →c] and →r  = (→a  × 

→
b) / [→a , 

→
b, →c], 

then (→a + 
→
b) ⋅ →p + (

→
b + →c) ⋅ →q + (

→
c + →a) ⋅ →r  

is equal to 
 (A) 0 (B) 1 
 (C) 2  (D) 3 
 

47. 
⌡⎮
⌠

0

π/2

 
cos x dx

(1 + sin x) (2 + sin x) is equal to 

 (A) log 4 (B) log 3 
 (C) log (3/4) (D) log (4/3) 
 

48. Center of mass of a body  
 (A) Always lies on the body 
 (B) Always lies outside the body 
 (C) May lie inside or outside 
 (D) No conclusion can be made 
 

49. tan–1(1/5) + tan–1(1/7) + tan–1(1/3) + 
tan–1(1/8) =                                      

 (A) π/3 (B) π/4 
 (C) π/2 (D) π  
 

50. A six faced fair dice is thrown until 1 
comes. The probability that 1 comes 
in even number of trial is 

 (A) 5/11 (B) 5/ 6 
 (C) 6/11 (D) 1/6 

43. •Ö²Ö P (A ∪ B) = 0.85, P (A) = 0.3, P (B) 
= 0.6, ÆüÖê, ŸÖÖê A ¾Ö B ‘Ö™ü®ÖÖ ÛúÖê ŒµÖÖ ÛúÆüÖ •ÖÖ‹ÝÖÖ ? 

 (A) Ã¾ÖŸÖÓ¡Ö 
 (B) ÃÖ´ÖÖ®Ö ÆüÖê®Öê Ûúß •ÖîÃÖß 
 (C) ¯Ö¸üÃ¯Ö¸ü †¯Ö¾ÖÙ•ÖŸÖ ®ÖÆüà  
 (D) ¯Ö¸üÃ¯Ö¸ü †¯Ö¾ÖÙ•ÖŸÖ  
 

44. 3 ‘Ö™ü®ÖÖ†Öë A1, A2 ¾Ö A3 Ûêú †Ö¯ÖÃÖß 
Ã¾ÖÖ¾Ö»ÖÓ²Ö®Ö Ûêú ×»Ö‹, Ûãú»Ö ×ÛúŸÖ®Öß ×Ã£Ö×ŸÖµÖÖë ÛúÖê 
ÃÖÓŸÖãÂ™ü ×ÛúµÖÖ •ÖÖŸÖÖ Æîü ?  

 (A) 3 (B) 4 
 (C) 5 (D) 1 
 

45. µÖ×¤ü A ¾Ö B ¾ÖÝÖÔ †Ö¾µÖæÆü ‡ÃÖ ŸÖ ü̧Æü ÆüÖê ×Ûú AB = A 
¾Ö BA = B ÆüÖê, ŸÖÖê B2 ×ÛúÃÖÛêú ²Ö¸üÖ²Ö¸ü Æîü     

 (A) B (B) A 
 (C) I (D) 0 
 

46. µÖ×¤ü →a , 
→
b ¾Ö →c  ŸÖß®Ö †ÃÖ´ÖŸÖ»ÖßµÖ ¾ÖêŒ™ü¸ü ÆüÖë ¾Ö 

→p, →q ¾Ö →r  ¾ÖîŒ™ü¸ü →p = (
→
b × →c) / [→a , 

→
b, →c], 

→q = (→c  × →a) / [→a , 
→
b, →c] ¾Ö →r  = (→a  × 

→
b) 

/ [→a , 
→
b, →c] «üÖ¸üÖ ×®Ö×¿“ÖŸÖ ÆüÖê, ŸÖÖê (→a + 

→
b) ⋅ →p 

+ (
→
b + →c) ⋅ →q + (

→
c + →a) ⋅ →r  ×ÛúÃÖÛêú ²Ö¸üÖ²Ö¸ü Æîü ? 

 (A) 0 (B) 1 
 (C) 2  (D) 3 

 

47. 
⌡⎮
⌠

0

π/2

 
cos x dx

(1 + sin x) (2 + sin x) ×ÛúÃÖÛêú ²Ö ü̧Ö²Ö ü̧ Æîü ? 

 (A) log 4 (B) log 3 
 (C) log (3/4) (D) log (4/3) 
 

48. ×ÛúÃÖß ¾ÖÃŸÖã ÛúÖ ¦ü¾µÖ´ÖÖ®Ö Ûêú®¦ü  
 (A) Æü´Öê¿ÖÖ ¾ÖÃŸÖã ¯Ö¸ü Æüß ÆüÖêŸÖÖ Æîü … 
 (B) Æü´Öê¿ÖÖ ¾ÖÃŸÖã Ûêú ²ÖÖÆü¸üß ŸÖ¸ü±ú ÆüÖêŸÖÖ Æîü … 
 (C) ³ÖßŸÖ¸üß µÖÖ ²ÖÖÆü¸üß ŸÖ¸ü±ú ÆüÖê ÃÖÛúŸÖÖ Æîü … 
 (D) ÛúÖê‡Ô ×®ÖÂÛúÂÖÔ ®ÖÆüà ×®ÖÛúÖ»ÖÖ •ÖÖ ÃÖÛúŸÖÖ …  
 

49. tan–1(1/5) + tan–1(1/7) + tan–1(1/3) + 
tan–1(1/8) ×ÛúŸÖ®ÖÖ Æîü  ?                                    

 (A) π/3 (B) π/4 
 (C) π/2 (D) π  
 

50. ”û: ±ú»ÖÛú ¾ÖÖ»Öê ‹Ûú ×®ÖÂ¯ÖõÖ ¯ÖÖÃÖê ÛúÖê 1 †Ö®Öê ŸÖÛúü 
±ëúÛúÖ •ÖÖŸÖÖ Æîü … ‡ÃÖ ²ÖÖŸÖ Ûúß ×ÛúŸÖ®Öß ÃÖÓ³ÖÖ¾Ö®ÖÖ Æîü 
×Ûú 1 ÛúÖê×¿Ö¿ÖÖë Ûúß ÃÖ´ÖÃÖÓÜµÖÖ ´Öë †Ö‹ ?  

 (A) 5/11 (B) 5/ 6 
 (C) 6/11 (D) 1/6 
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51. Satish Gujral is 
 (A) An actor (B) Cricketer 
 (C) Musician (D) Painter 
 

52. What is Jantar Mantar ? 
 (A) A museum 
 (B) A fort 
 (C) A garden 
 (D) An astronomical observatory 
 

53. Dronacharya Award is presented by 
Indian Government for excellence in 

 (A) Academia 
 (B) Archery 
 (C) Sports coaching 
 (D) Bravery 
 

54. A city of 1000 temples is also famous 
for traditional textiles known as 

 (A) Patola (B) Bagh 
 (C) Jamawar (D) Kanjivaram 
 

55. Where is Golden Temple located in 
India ? 

 (A) Amritsar (B) Chandigarh 
 (C) Ahmedabad (D) Bhopal 
 

56. National Highway No. 24 connects 
 (A) Lucknow with Delhi 
 (B) Lucknow with Agra 
 (C) Lucknow with Gorakhpur 
 (D) Lucknow with Varanasi 
 

For Q. No 57 to 61, read the following and 
answer.  
The graph represents wheat production, in 
thousand tones from 1985 to 1990. Answer 
the questions below : 

 

 
 
 

51. ÃÖŸÖß¿Ö ÝÖã•Ö¸üÖ»Ö ÛúÖî®Ö Æïü ? 
 (A) †×³Ö®ÖêŸÖÖ (B) ×ÛÎúÛêú™ü¸ü 
 (C) ÃÖÓÝÖßŸÖÛúÖ¸ü (D) ×“Ö¡ÖÛúÖ¸ü 
 

52. •Ö®ŸÖ¸ü-´Ö®ŸÖ¸üü ŒµÖÖ Æîü ? 
 (A) ÃÖÓÝÖÏÆüÖ»ÖµÖ 
 (B) ×Ûú»ÖÖ 
 (C) ²ÖÖÝÖ 
 (D) ÜÖÝÖÖê»ÖßµÖ ¾Öê¬Ö¿ÖÖ»ÖÖ 
 

53. ³ÖÖ¸üŸÖ ÃÖ¸üÛúÖ¸ü «üÖ¸üÖ ×ÛúÃÖ´Öë ÁÖêÂšüŸÖÖ Ûêú ×»Ö‹ 
¦üÖêÞÖÖ“ÖÖµÖÔ ¯Öã¸üÃÛúÖ¸ü ×¤üµÖÖ •ÖÖŸÖÖ Æïü ? 

 (A) ×¾Ö«üŸÖÖ 
 (B) ŸÖß¸Óü¤üÖ•Öß 
 (C) ÜÖê»Ö ÛúÖêØ“ÖÝÖ 
 (D) ²ÖÆüÖ¤ãü¸üß 
 

54. 1000 ´ÖÓ×¤ü¸üÖë ÛúÖ ¿ÖÆü¸ü ×ÛúÃÖ ¯ÖÖ¸Óü¯Ö×¸üÛú ¾ÖÃ¡Ö Ûêú 
×»Ö‹ ³Öß ¯ÖÏ×ÃÖ¨ü Æïü ? 

 (A) ¯Ö™üÖê»ÖÖ (B) ²ÖÖ‘Ö 
 (C) •ÖÖ´Ö¾Ö¸ü (D) ÛúÖÓ•Öß¾Ö¸ü´Ö 
 

55. ³ÖÖ¸üŸÖ ´Öë Ã¾ÖÞÖÔ ´ÖÓ×¤ü¸ü ÛúÆüÖÑ ×Ã£ÖŸÖ Æîü ? 
 (A) †´ÖéŸÖÃÖ¸ü (B) “ÖÓ›üßÝÖœÌü 
 (C) †Æü´Ö¤üÖ²ÖÖ¤ü (D) ³ÖÖê¯ÖÖ»Ö 
 
56. ¸üÖÂ™ÒüßµÖ ¸üÖ•Ö´ÖÖÝÖÔ ÃÖÓÜµÖÖ 24 ×ÛúÃÖê •ÖÖê›ÌüŸÖÖ Æïü ? 
 (A) »ÖÜÖ®Ö‰ú ÛúÖê ×¤ü»»Öß ÃÖê … 
 (B) »ÖÜÖ®Ö‰ú ÛúÖê †ÖÝÖ¸üÖ ÃÖê … 
 (C) »ÖÜÖ®Ö‰ú ÛúÖê ÝÖÖê¸üÜÖ¯Öã¸ü ÃÖê … 
 (D) »ÖÜÖ®Ö‰ú ÛúÖê ¾ÖÖ¸üÖÞÖÃÖß ÃÖê … 
 

¯ÖÏ¿®Ö 57 ÃÖê 61 Ûêú ×»Ö‹ ×®Ö´®ÖÖÓ×ÛúŸÖ ÛúÖê ¯ÖœÌêü ¾Ö ˆ¢Ö¸ü ¤ëü … 
µÖÆü ÝÖÏÖ±ú 1985 ÃÖê 1990 ŸÖÛú Æü•ÖÖ¸ü ™ü®ÖÖë ´Öë ÝÖêÆæÑü 
ˆŸ¯ÖÖ¤ü®Ö ¤ü¿ÖÖÔŸÖÖ Æïü… ®Öß“Öê ×¤ü‹ ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü ¤êü : 

 

PART – B / ³ÖÖÝÖ – B 
AESTHETIC SENSITIVITY / ‹Ã£Öê×™üÛú ÃÖë×ÃÖ™üß×¾Ö™üß 
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57. What is the percent increase in 
production in 1986 as compared to 
1985 ? 

 (A) 45 (B) 37.5 
 (C) 52 (D) 51 
 

58. Which year’s production is 50% of 
the sum of production of 1985 and 
1990 ? 

 (A) 1985 (B) 1987 
 (C) 1989 (D) 1990 
 

59. If the production during 1991 is more 
than the average product of the given 
year, which is the minimum 
production during 1991 ? 

 (A) 104000 tonnes 
 (B) 134000 tonnes 
 (C) 121000 tonnes 
 (D) 100900 tonnes 
 

60. How many years production is more 
than the average production ? 

 (A) Three (B) Two 
 (C) One (D) Four 
 

61. Sum of production during ‘odd’ year is 
how many times that of the ‘even’ year ? 

 (A) 1.8 times (B) 8 times 
 (C) 2.5 times (D) 0.68 times 
 

62. Architect Lutyens is associated with 
the design of which city ? 

 (A) Mumbai (B) Delhi 
 (C) Kolkata (D) Chennai 
 

63. The place of origin of Gomti river is 
located in 

 (A) Lucknow (B) Pilibhit 
 (C) Ranikhet (D) Tanakpur 
 

64. The oldest mountains in India 
according to geographical history are 

 (A) Satpuras (B) Nilgiris 
 (C) Vindhyas (D) Aravallis 
 

65. Which State has smallest land area ? 
 (A) Goa (B) Nagaland 
 (C) Sikkim (D) Tripura 

57. 1985 Ûúß ŸÖã»Ö®ÖÖ ´Öë 1986 ´Öë ˆŸ¯ÖÖ¤ü®Ö ´Öë ¾Öé×¨ü 
ÛúÖ ¯ÖÏ×ŸÖ¿ÖŸÖ ŒµÖÖ Æïü ? 

 (A) 45 (B) 37.5 
 (C) 52 (D) 51 
 
58. ×ÛúÃÖ ¾ÖÂÖÔ ÛúÖ ˆŸ¯ÖÖ¤ü®Ö 1985 ¾Ö 1990 Ûêú 

ˆŸ¯ÖÖ¤ü®Ö Ûêú µÖÖêÝÖ ÛúÖ 50% Æîü ? 
 (A) 1985 (B) 1987 
 (C) 1989 (D) 1990 
 
59. µÖ×¤ü 1991 Ûêú ¤üÖî¸üÖ®Ö ˆŸ¯ÖÖ¤ü®Ö ×¤ü‹ ÝÖ‹ ¾ÖÂÖÔ Ûêú 

†ÖîÃÖŸÖ ˆŸ¯ÖÖ¤ü®Ö ÃÖê †×¬ÖÛú ÆüÖê, ŸÖÖê 1991 Ûêú 
¤üÖî¸üÖ®Ö ®µÖæ®ÖŸÖ´Ö ˆŸ¯ÖÖ¤ü®Ö ×ÛúŸÖ®ÖÖ Æîü ?  

 (A) 104000 ™ü®Ö 
 (B) 134000 ™ü®Ö 
 (C) 121000 ™ü®Ö 
 (D) 100900 ™ü®Ö 
 
60. ×ÛúŸÖ®Öê ¾ÖÂÖÖí ÛúÖ ˆŸ¯ÖÖ¤ü®Ö †ÖîÃÖŸÖ ˆŸ¯ÖÖ¤ü®Ö ÃÖê 

†×¬ÖÛú Æîü ? 
 (A) ŸÖß®Ö (B) ¤üÖê 
 (C) ‹Ûú (D) “ÖÖ¸ü 
 

61. ‘×¾ÖÂÖ´Ö’ ¾ÖÂÖÖí Ûêú ¤üÖî¸üÖ®Ö ˆŸ¯ÖÖ¤ü®Ö ÛúÖ µÖÖêÝÖ ‘ÃÖ´Ö’ 
¾ÖÂÖÖí Ûúß ŸÖã»Ö®ÖÖ ´Öë ×ÛúŸÖ®ÖÖ ÝÖã®ÖÖ Æîü ? 

 (A) 1.8 ÝÖã®ÖÖ (B) 8 ÝÖã®ÖÖ 
 (C) 2.5 ÝÖã®ÖÖ (D) 0.68 ÝÖã®ÖÖ 
 

62. ¾ÖÖÃŸÖãÛúÖ¸ü »Öæ×™üµÖ®Ö ×ÛúÃÖ ¿ÖÆü¸ü Ûêú ×›ü•ÖÖ‡®Ö ÃÖê 
ÃÖÓ²ÖÓ×¬ÖŸÖ Æïü ? 

 (A) ´Öã´²Ö‡Ô (B) ×¤ü»»Öß 
 (C) ÛúÖê»ÖÛúÖŸÖÖ (D) “Öê®®Ö‡Ô 
 

63. ÝÖÖê´ÖŸÖß ®Ö¤üß ÛúÖ ˆ¤ËüÝÖ´Ö Ã£Ö»Ö ÛúÆüÖÑ ×Ã£ÖŸÖ Æîü ? 
 (A) »ÖÜÖ®Ö‰ú ´Öë (B) ¯Öß»Öß³ÖßŸÖ ´Öë 
 (C) ¸üÖ®ÖßÜÖêŸÖ ´Öë (D) ™ü®ÖÛú¯Öã¸ü ´Öë 
 
64. ³ÖÖîÝÖÖê×»ÖÛú ‡×ŸÖÆüÖÃÖ Ûêú †®ÖãÃÖÖ¸ü ³ÖÖ¸üŸÖ ´Öë 

¯ÖÏÖ“Öß®ÖŸÖ´Ö ¯ÖÆüÖ›Ìü ÛúÖî®Ö ÃÖê Æïü ? 
 (A) ÃÖŸÖ¯Öã›ÌüÖ (B) ®Öß»Ö×ÝÖ×¸ü 
 (C) Ø¾Ö¬µÖ (D) †¸üÖ¾Ö»Öß 
 

65. ×ÛúÃÖ ¸üÖ•µÖ ÛúÖ ³Öæ-õÖê¡Ö±ú»Ö ÃÖ²ÖÃÖê Ûú´Ö Æïü ? 
 (A) ÝÖÖê¾ÖÖ (B) ®ÖÖÝÖÖ»Öï›ü 
 (C) ×ÃÖ×ŒÛú´Ö (D) ×¡Ö¯Öã¸üÖ 
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66. Which of the following is not a 
renewable energy source ? 

 (A) Wind power (B) Solar power 
 (C) Fossil fuels (D) Tidal waves 
 
67. The tallest building of the world is 

located in 
 (A) USA (B) UAE 
 (C) China (D) Malaysia 
 
68. Which diagram correctly represents 

the relationship between Human 
beings, Teachers, Graduates ? 

  
 (A) (B) (C) (D) 
 
69. How many triangles are there in the 

given figure ? 

  
 (A) 29 (B) 38 
 (C) 40 (D) 35 
 
70. Find the missing number 

 
 (A) 6 (B) 8 
 (C) 7 (D) 9 
 
71. Find the number of triangles in the 

given figure 

 
 (A) 10 (B) 12 
 (C) 14 (D) 16 

66. ×®Ö´®ÖÖÓ×ÛúŸÖ ´Öë ÃÖê ®Ö¾ÖßÛú¸üÞÖßµÖ ‰ú•ÖÖÔ ÛúÖ ÄÖÖêŸÖ ®ÖÆüà 
Æïü ? 

 (A) ¯Ö¾Ö®Ö ‰ú•ÖÖÔ (B) ÃÖÖî¸ü ‰ú•ÖÖÔ 
 (C) •Öß¾ÖÖ¿´Ö ‰ú•ÖÖÔ (D) •¾ÖÖ¸üßµÖ ‰ú•ÖÖÔ 
 

67. ×¾Ö¿¾Ö ÛúÖ ÃÖ²ÖÃÖê ‰Ñú“ÖÖ ³Ö¾Ö®Ö ÛúÆüÖÑ ×Ã£ÖŸÖ Æïü ?  
 (A) ÃÖÓµÖãŒŸÖ ¸üÖ•µÖ †´Öê×¸üÛúÖ ´Öë 
 (B) µÖæ.‹.‡Ô. ´Öë 
 (C) “Öß®Ö ´Öë  
 (D) ´Ö»Öê×¿ÖµÖÖ ´Öë 
 

68. ÛúÖî®Ö ÃÖß †ÖÛéú×ŸÖ ´ÖÖ®Ö¾Ö•ÖÖ×ŸÖ, ×¿ÖõÖÛúÖë †Öî¸ü 
Ã®ÖÖŸÖÛúÖë Ûêú ´Ö¬µÖ ÃÖÓ²ÖÓ¬ÖÖë ÛúÖ ÃÖÆüß ¯ÖÏ×ŸÖ×®Ö×¬ÖŸ¾Ö 
Ûú¸üŸÖß Æîü ? 

  
 (A) (B) (C) (D) 
 

69. ¤üß ÝÖ‡Ô †ÖÛéú×ŸÖ ´Öë ×ÛúŸÖ®Öê ×¡Ö³Öã•ÖÖë ÛúÖ ÃÖ´ÖÖ¾Öê¿Ö Æîü ? 

  
 (A) 29 (B) 38 
 (C) 40 (D) 35 

 
70. »Öã¯ŸÖ ÃÖÓÜµÖÖ –ÖÖŸÖ Ûú¸ëü 

 
 (A) 6 (B) 8 
 (C) 7 (D) 9 
 
71. ¤üß ÝÖ‡Ô †ÖÛéú×ŸÖ ´Öë ÃÖ´ÖÖ×ÆüŸÖ ×¡Ö³Öã•ÖÖë Ûúß ÃÖÓÜµÖÖ       

–ÖÖŸÖ Ûú¸üÖê … 

 
 (A) 10 (B) 12 
 (C) 14 (D) 16 
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72. Find the odd figure out in the problem 
figure below : 

 
(A)

  
(B)

  

 
(C)

  
(D)

  
 
73. What will be the next in series 

  
 

 
(A)

   
(B)

  

 
(C)

  
(D)

  
 
74. Which one of the following figures 

will complete the sequence ? 

  

 
(A)

  
(B)

  

 
(C)

  
(D)

  
 
For Questions 75-84, identify and choose 
the correct option to which the logo belongs 
 

75.

   
 (A) VENUS Audio (B) HMV Audio 
 (C) T-Series (D) ABCL 
 

76.

     
 (A) BMW (B) Toyota 
 (C) Daewoo (D) Nissan 

72. ®Öß“Öê ¤üß ÝÖ‡Ô ¯ÖÏ¿®ÖÖÛéú×ŸÖµÖÖë ´Öë ×¾ÖÂÖ´Ö †ÖÛéú×ŸÖ ÛúÖ 
¯ÖŸÖÖ »ÖÝÖÖ‹Ñ : 

 
(A)

  
(B)

  

 
(C)

  
(D)

  
 

73. ÁÖêÞÖß ´Öë †ÝÖ»ÖÖ ÛÎú´Ö ŒµÖÖ ÆüÖêÝÖÖ ? 

  
 

 (A)
   

(B)
  

 
(C)

  
(D)

  
 
74. ×®Ö´®Ö ´Öë ÃÖê ÛúÖî®Ö ÃÖß †ÖÛéú×ŸÖ †®ÖãÛÎú´Ö ÛúÖê ¯ÖæÞÖÔ 

Ûú¸üŸÖß Æîü ? 

  

 
(A)

  
(B)

  

 
(C)

  
(D)

  
 

¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 75-84 Ûêú ×»Ö‹, ÃÖÆüß ×¾ÖÛú»¯Ö ÛúÖê ¯ÖÆü“ÖÖ×®Ö‹ 
‹¾ÖÓ “Öã×®ÖµÖê ×•ÖÃÖÃÖê »ÖÖêÝÖÖê (logo) ÃÖ´²Ö×®¬ÖŸÖ Æîü … 
 

75.   

 (A) VENUS ÁÖ¾µÖ (B) ‹“Ö ‹´Ö ¾Öß ÁÖ¾µÖ 
 (C) T-ÃÖß×¸ü•Ö (D) ‹ ²Öß ÃÖß ‹»Ö 
 

76.     

 (A) ²Öß ‹´Ö ›ü²»µÖæ (B) ™üÖêµÖÖê™üÖ 
 (C) ¤êü¾Öæ (Daewoo) (D) ×®Ö¿ÖÖ®Ö (Nissan) 
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77.

    
 (A) Oriental Bank of Commerce 
 (B) State Bank of India 
 (C) Reserve Bank of India 
 (D) Corporation Bank 
 

78.

   
 (A) Apple (B) Attitude 
 (C) Arch (D) Amazon 
 

79.
   

 (A) Target (B) Twitter 
 (C) Birdy’s (D) Fly High 
 

80.

    
 (A) Sky High (B) Sky Star  
 (C) Skype (D) Style New 
 

81.

   
 (A) Global Desi (B) Firefox 
 (C) Earth’s (D) Fox’s 
 

82.

   
 (A) United Colours of Benetton 
 (B) National Women’s and Child 

Commission 
 (C) Naco 
 (D) Health Welfare of India 
 

83.

    
 (A) Animal Kingdom 
 (B) WWF 
 (C) Save Earth 
 (D) Kanha Forest Reserve  

77.    

 (A) †Öê×¸ü‹®™ü»Ö ²ÖïÛú †Öò±ú ÛúÖò´ÖÃÖÔ 
 (B) Ã™êü™ü ²ÖïÛú †Öò±ú ‡Ó×›üµÖÖ 
 (C) ×¸ü•Ö¾ÖÔ ²ÖïÛú †Öò±ú ‡Ó×›üµÖÖ 
 (D) ÛúÖò¯ÖÖì¸êü¿Ö®Ö ²ÖïÛú 
 

78.   

 (A) ‹ê¯Ö»Ö (Apple) 
 (B) ‹×™ü™ËüµÖæ›ü (Attitude) 
 (C) †Ö“ÖÔ (Arch) 
 (D) †´Öê•ÖÖ®Ö (Amazon) 
 

79.   

 (A) ™üÖ¸üÝÖê™ (B) ×™Ëü¾Ö™ü¸ü  
 (C) ²Ö›üâÃÖ (D) °»ÖÖµÖ ÆüÖ‡Ô 
 

80.    

 (A) ÃÛúÖµÖ ÆüÖ‡Ô (B) ÃÛúÖµÖ Ã™üÖ¸ü 
 (C) ÃÛúÖµÖ¯Öß (D) Ã™üÖµÖ»Ö ®µÖæ 
 

81.   

 (A) Ý»ÖÖê²Ö»Ö ¤êü¿Öß (B) ±úÖµÖ¸ü ±úÖòŒÃÖ 
 (C) †£ÖÔ’ÃÖ (D) ±úÖòŒÃÖ’ÃÖ 
 

82.   

 (A) µÖæ®ÖÖ‡™êü›ü Ûú»ÖÃÖÔ †Öò±ú ²Öê®Öê™üÖò®Ö 
(Benetton) 

 (B) ®Öê¿Ö®Ö»Ö ¾Öã´Öê®Ö’ÃÖ ‹Þ›ü “ÖÖ‡»›ü Ûú´Öß¿Ö®Ö 
 (C) ®ÖÖÛúÖê (Naco) 
 (D) Æêü»£Ö ¾Öê»Ö±êúµÖ¸ü †Öò±ú ‡Ó×›üµÖÖ 
 

83.    

 (A) ‹×®Ö´Ö»Ö ØÛúÝÖ›ü´Ö 
 (B) ›ü²»µÖæ ›ü²»µÖæ ‹±ú 
 (C) ¯Öé£¾Öß ²Ö“ÖÖ†Öê 
 (D) ÛúÖ®ÆüÖ ¾Ö®Ö ÃÖÓ¸üõÖÞÖ 
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84.

    

 (A) Archives of India 

 (B) Yamaha 

 (C) Meghdut 

 (D) Flemington Circle 
 

85. The 3-d problem figure shows the 
view of an object. Identify its correct 
top view from amongst the answers 

   

 
(A)

  
(B)

  

 
(C)

  
(D)

  
 

For Questions 86-88, which one of the 
answer figures shows the correct view of 
the 3-D problem figure after it is opened up. 

86.

   

 

(A)

  

(B)

  

 

(C)

  

(D)

  

84.    

 (A) †Ö“Öá¾ÃÖû †Öò±ú ‡Ó×›üµÖÖ 

 (B) µÖÖ´ÖÖÆüÖ 

 (C) ´Öê‘Ö¤æüŸÖ 

 (D) °»Öê×´Ö®ÝÖ™ü®Ö ÃÖÛÔú»Ö 

 

85. ×¡Ö-†ÖµÖÖ´Öß ¯ÖÏ¿®ÖÖÛéú×ŸÖ ‹Ûú ¾ÖÃŸÖã ÛúÖ ¯Ö×¸ü¥ü¿µÖ 
¤ü¿ÖÖÔŸÖß Æîü … ‡ÃÖÛêú ÃÖÆüß ¿ÖßÂÖÔ ¯Ö×¸ü¥ü¿µÖ Ûúß ¯ÖÆü“ÖÖ®Ö 

ˆ¢Ö¸üÖÛéú×ŸÖµÖÖë Ûêú ²Öß“Ö ÃÖê Ûú¸ëü … 

   

 
(A)

  
(B)

  

 
(C)

  
(D)

  
 

¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 86-88 Ûêú ×»Ö‹,  ÛúÖî®Ö ÃÖß ‹Ûú ˆ¢Ö¸üÖÛéú×ŸÖ, 

×¡Ö-†ÖµÖÖ´Öß ¯ÖÏ¿®ÖÖÛéú×ŸÖ Ûêú ÜÖã»Öê Ã¾Öºþ¯Ö ÛúÖ ‹Ûú ÃÖÆüß 

¯Ö×¸ü¥ü¿µÖ ¤ü¿ÖÖÔŸÖß Æîü ? 

86.   

 

(A)

  

(B)

  

 

(C)

  

(D)
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87.

 
 

 (A)
 

 

(B)

  

 

(C)

  

(D)

  

88.

  

 

(A)

  

(B)

  

 

(C)

  

(D)

  
 

89.

  

is rotated to

  

as 

 

is rotated to

 

 

(A)

  

(B)

 
   

 

(C)

   

(D)

   

87. 
 

 (A)
 

 

(B)

  

 

(C)

  

(D)

  

88.  

 

(A)

  

(B)

  

 

(C)

  

(D)

  

 

89.  ÛúÖ ‘ÖæÞÖÔ®Ö  Ûúß ŸÖ¸üÆü 

Æãü†Ö ÆüÖê, ŸÖÖê 

  

ÛúÖ ‘ÖæÞÖÔ®Ö Æîü

 

 

(A)

  

(B)

 
   

 

(C)

   

(D)
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90. Identify the view of the given figure 
from the point located. 

   

 

(A)

  

 

(B)

   

 

(C) 

  

 

(D)

   
 
 
91. Select a suitable figure from the 

following that would complete the 
matrix : 

  

  
 (1) (2) (3) (4)  
 (A) 1 
 (B) 2 
 (C) 3 
 (D) 4 

90. ×¤ü‹ ÝÖ‹ †ÖÛéú×ŸÖ Ûêú ¯Ö×¸ü¥ü¿µÖ ÛúÖê ¯ÖÏ¤üÙ¿ÖŸÖ ×²Ö®¤ãü 
Ûêú ÃÖÖ¯ÖêõÖ ¯ÖÆü“ÖÖ®Ö Ûú¸ëü : 

   

 

(A)

  

 

(B)

   

 

(C) 

  

 

(D)

   
 
 

91. ×®Ö´®ÖÖÓ×ÛúŸÖ ´Öë ÃÖê ‹Ûú ˆ¯ÖµÖãŒŸÖ †ÖÛéú×ŸÖ ÛúÖ “Öã®ÖÖ¾Ö 
Ûú¸ëü, •ÖÖê †Ö¾µÖæÆü ÛúÖê ¯ÖæÞÖÔ Ûú¸êü : 

  

  
 (1) (2) (3) (4)  
 (A) 1 
 (B) 2 
 (C) 3 
 (D) 4 



P-4 17  

For Questions 92 to 93, which one of the 
answer figures is the correct mirror image 
of the given problem figure about the axis 
X-X 

92. Problem figure : 

     

 Answer figures : 

 

(A)

   

 

(B)

  

 

(C)

  

 

(D)

    
 

¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 92 ÃÖê 93 Ûêú ×»Ö‹, X-X †õÖßµÖ ×Ã£Ö×ŸÖ Ûêú 
ÃÖÖ¯ÖêõÖ ÛúÖî®Ö ÃÖß ‹Ûú ˆ¢Ö¸ü †ÖÛéú×ŸÖ ¯ÖÏ¿®ÖÖÛéú×ŸÖ ÛúÖ ÃÖÆüß 
¤ü¯ÖÔÞÖ ¯ÖÏ×ŸÖØ²Ö²Ö ÆüÖêÝÖß ? 
 

92. ¯ÖÏ¿®Ö †ÖÛéú×ŸÖ : 

     

 ˆ¢Ö¸ü †ÖÛéú×ŸÖµÖÖÑ : 

 

(A)

   

 

(B)

  

 

(C)

  

 

(D)
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93. Problem figure :  

  
 Answer figures : 

 

(A)

  

 

(B)

  

 

(C)

  

 

(D)

  
 

94. How many total number of rectangles 
are there in the figure given below ? 

   
 (A) 13 (B) 15 
 (C) 14 (D) 12 

93. ¯ÖÏ¿®Ö †ÖÛéú×ŸÖ : 

  
 ˆ¢Ö¸ü †ÖÛéú×ŸÖµÖÖÑ : 

 

(A)

  

 

(B)

  

 

(C)

  

 

(D)

  
 

94. ®Öß“Öê ¤üß ÝÖ‡Ô †ÖÛéú×ŸÖ ´Öë Ûãú»Ö ×ÛúŸÖ®Öß ÃÖÓÜµÖÖ ´Öë 
†ÖµÖŸÖ ÃÖ´ÖÖ×ÆüŸÖ Æïü ? 

   
 (A) 13 (B) 15 
 (C) 14 (D) 12 
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Find the odd figure out from the options in 
Questions 95 to 96 : 
 

95.
 

  (A) (B) (C) (D)  
 

96.
  

  (A) (B) (C) (D)  
 
In Questions 97 to 100, find the missing 
number 

97.

  
 (A) 4 (B) 305 
 (C) 343 (D) 729 
 

98.
  

 (A) 117 (B) 36 
 (C) 32 (D) 26 
 
99.

  
 (A) 5 (B) 6 
 (C) 8 (D) 9 
 
100. 7 8 6 
 4 9 5 
 3 2 ? 
 25 70 29   
 (A) 9 (B) 8 
 (C) 1 (D) 5  

¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 95 ‹¾ÖÓ 96  ´Öë, ×¾ÖÛú»¯Ö †ÖÛéú×ŸÖµÖÖë ´Öë ÃÖê 
²Öê´Öê»Ö/×¾ÖÂÖ´Ö †ÖÛéú×ŸÖ ÛúÖ ¯ÖŸÖÖ »ÖÝÖÖ‹Ñ : 
 

95.
 

  (A) (B) (C) (D)  
 

96.
  

  (A) (B) (C) (D)  
 
¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 97 ÃÖê 100 ´Öë, »Öã¯ŸÖ ÃÖÓÜµÖÖ ´ÖÖ»Öæ´Ö Ûúß×•Ö‹ … 

97.

  
 (A) 4 (B) 305 
 (C) 343 (D) 729 

 
98.

  
 (A) 117 (B) 36 
 (C) 32 (D) 26 
 
99.

  
 (A) 5 (B) 6 
 (C) 8 (D) 9 
 
100. 7 8 6 
 4 9 5 
 3 2 ? 
 25 70 29   
 (A) 9 (B) 8 
 (C) 1 (D) 5  
 


